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795.5 = 18.5 = 7955 + 185 = 43(7H)
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10. 29l 42722 om, A7 em A RA i ol 2%

w2 230712 em? 2, ol B em 914 oA,

1
®§cm @§cm @gcm

8
@ 1§cm (@)gcm

~&B

(E°)

(A wA o] 2]y (3 e o] Hol)
3 2 6 _ §; z{
?*(2??)—17-( X7>

5
1610160
7 5

Il
—

= | 00

3
=1=-=+
7

5
= g(cm)

me 48 mA ol 2 om AM,




11. oH $2 8302 Lhrolof & 21 225}l FohAtiY 451527}
ol HEEA AN o e Antluzt (52 eyt
A B A7) FokA L)
=

> HE: 655

old 52 [t std
[ ]x8.3=451.52
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12. @9 dolof tigt @] Wolo] v|& 7Y ids] Ul A2 o]
AAY7t?
@ (&)
//,—12cm—~\\ ,48CII1~\
3cm K
9cm
1
/
/
O 66:53 @ 11:9 @ 66: 54

@ 54 :108 @9:11

B

@] Wol= (12 x 9) + 2 = 54(cm?)
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(B9 B1]) = 9x 12 x 3 = 324( cm?)
(Uyo]) =9x12-6x6
=108 - 36 = 72( cm?)
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